Estimation

1. Using calculator ,to work out and write answer upto 3 s.{.
V(19.2+(2.6))/2.7x1.5
». work out an estimate 0of412 x 5.904 /; 195

3. Estimate the value of 21 x 3.86/ 0.207
4.work out 4x (10)* / 8 x (10)-5

5. using calculator ,estimate

13.72/ (17.55 -15.87) to 1 decimal places.
6. using calculator ,estimate ¥20.25 +(1.65)?
7. using calculator ,estimate V(0.42 x12.7 +(4.8)*) to 3 s.1.
8. using calculator ,estimate 2036 x 2.99 / 0.488
9. using calculator ,estimate 8012/(4861 x 0.397)
10.using calculator ,estimate 59.4/0.307
1 1.using calculator ,estimate 80.16 /0.481
12.using calculator ,estimate V{ (8.17)°+(4.3)*} to 3 s.f.
13.using calculator ,estimate V { (8.7)*—(2.8)°} to 3 s.f.

14. Calculate { (3.46)*+V((2.3)*+1 )}/ 2.6 +3.6 to3s.f
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